SYDNEY GIRLS HIGH SCHOOL

YEAR 11 MATHEMATICS EXT 1

Assessment Task 1
APRIL 2004

Time allowed: 60 minutes

Topics Geometry, Special Quadrilaterals, Functions plus harder ch 1-4

Instructions:

e There are Four(4) questions. Questions are. of equal value.
e Attempt all questions.

e Show all necessary working. Marks may be deducted for badly arranged work.

e Start each question on a new page. Write on one side of the paper only.
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QUESTION 2 (16 MARKS)

a) Show whether the following function is
odd, even or neither.

f@)=—

x> -1

b) A function f(x) is defined by

x’ for =-2<x<1
4-3x for 1<x=52

f(x)=[

i) Sketch showing relevant points

iiy  Evaluate f(-1)+f (1%)

¢) Solve the inequation Ii%*-ll <4

d) Write inequalities to represent the shaded area

.

¢) ABCD is a thombus. Prove that the diagonals bisect each other:

A B




QUESTION 4 (16 MARKS)

a) Find the value of x if 9**! = (&7 )ZM

b) Solve the inequality and draw the solution on the

number line. J <2
S5x-2
.. A
¢) Simplify the following 7
x —
3 2
— +_
d) Find the exact value of -4 53
1——
12

¢) ABCD is a parallelogram. P is the midpoint of DC
and CQ is drawn parallel to PA meeting DA produced

in Q.
i)  prove AAQR = AADP

ii)  hence prove AQ =BC

THE END
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